Lecture 03.2 - Physics 523

—

JEur\e'.mabd o—@ (rL‘PﬂrO\C[‘uofJ U akgene ot external ~L\c-rfe'sl i oked S‘aS““'-vr\ [ Q\Oﬂ({"alfb o Ell"'_

P
Y AN
r = r_ (F Fj) "‘Htis ‘por( YVIUI," lOf_ 'l"\oéngw?,(\_LJevf[_ Q)'(: C}\oiqa_ (‘)‘FO(‘[@,‘.
> opends only en R~ Em: R (R-8)
—»—JP’—‘}_‘XQM e %’ro“’"+ Fa™ — G M;M&‘a‘ - — G‘V‘V"u r - F\
n-l*

|7 GIS

unit vecter L0 240
2 < Y

Lets oy e fix 5=0  ab sagi, then Fo= Ry(®) i

f\

\ fm > cone iz, nad @Tx FI;L(?\) = @
N\

C ocurl wet _f%, candiates

RN A O A 3 A c;
n Carﬁsiqm; =

vlﬂxa_x\/_l_%* cr3)+ZQ?\
IV\, ‘H\AS Q@le,, Con oIz;pi’\-c_ U[:U,(ﬁ) / \—\

P =TV |y e fhe 7 g by 9ty He ovgn

Mius Siers comprinte
AN — A = Ny
ako, Fo=-F, =~ F= -,UM-7

— LN SN 2 RN AN
FlJ_(Pl—Q N \v[ Uoﬂl—{;\

C—"\a_\\q f‘UlJﬁ/ A a 3 _\\v (r \
I[COV]SQ«FVQ*\\CV] 0"('\ E\\{U\%g; dT: d_(—\ {_J_I:Z/: \/\Io—\ | +\/\)0n1,: (Jr%\{:%\i—{— Ql\}}z,"{:?;{\ = @F\\ drg)[ V U ]
= dr [~vu(*>j f= 7o

= —dV (dr's Cance|>
L dT=-dU ond JdE=JdTH) = JdT+Jd0=0

(En@/r%a 'S CCDV\%&"vtd ;oS exﬁec‘(‘e.eb
)E: T+T+U= Conﬁb—r\“’ﬂ




Ew\aa of Mm“lﬁW‘HDL& Stﬁd'&mg

oo s exfecved Bras) b Ty= 2= 1

. Ui
s — U
5 ? U+e, Z % <
_ 4 |
U—H‘ t)i-l- U,3+ Uil+ + Uzs +U1q + Ugj ensues Gi?a,'b\d_‘ O(DML(QJ ‘Courf;'ﬂg'
3 = t% dort cowit U8 e/

E_H’: ;T% + ;%{ U = const” }
o5 fron et frces r wtered pitedials loehoton piicleg

o R N C@ﬂWVﬁA
oL (> &

A&olm& ex{'«;mo,é CGV\QQF\[UU\‘\\V‘E, ‘@F%

R ira;e[ 100 o{«'ﬂg

Wt
Mgt + T 0T T U
ol o RO
MU+ 3 et
P4

L:KA) M\Wﬂg LAL” !a'f' ¢
= T Mu* + U"‘+

++t
T=2Mp>
W@Hﬂ/\[ﬁ) gJ\'O%\ /\&/\ = '/gj’flfl+ {IIW :iﬂﬂl +ﬂt(
@

% M)(VR\@; = %le
J = M%h

S
T \M_,\W 5F center of SPJ‘CP&

\M%(l\a—m: ~%M(v‘;1—%ﬂ

Sa\é, =0

E= % My + Mak conchantt™




X 1 SH\DW& po‘m‘\'

HOO{'%/S LO«\O\ Mmlj, p\m&g]couﬂ QHS“['EW\S @dw;lp(-#— '\ necrm r?s‘(bm\‘{*i"ﬂ_ Lrce : I:“ = k(X— &0 J\H-Q 1D ‘Ql‘ca GEP GWLGDVL%)COY\MW/{‘WQ

force cluc-Fo shefetuel / compressed Spmng‘, I
;Agg@o(o:l'cd U U= ‘g‘: k(K—XLch C"UC|Q\ A’ Jej G.Al\ ’rk&ldr Zx]oar\d any, @“"Qr\‘l‘a\l in o vie "'{'g ot
Shbionany, ok U (640 = UOQ+ALU'0) + % (400 U ()
(Gl % ~
Recall  Rlock. on c?lmol,,r; V' e=0)= mg(r-@ ="K o hoese. 4o bep =-F(%)=0 of SP
f‘% Recbatve F= -W%(r—@s = fg? {{i@ (’X“'KD&

ko
@ (r>|o\ :%‘kﬂ—

f\\@ﬂﬁ q“ St}g‘l?mg are Q“}PFD\QW‘O:FE[? S{BOﬁ%& // (W\lfss Lﬂal 29 Lar Lom é»_)

M Hormonic M"ﬁ’rﬂ T gu learm iy ot Fhing, leacn tng

. . X st
= wmx= —kx X=—w% ot wl':WI\\ %o\u—}*fons M= C¢@+ wf%—ﬁ_a v
N T
CA’ISQ AS}V\ St -\-%COS&SE) Arb'rl-m‘-g/ coeAEicents ( '\r\'\‘l‘;ql Cor\cli‘h'or\g Lix _(-MWD
@em“ 'QDF lm&r‘ aobs \’hvt, Wwp rﬁog ‘)"\Or\ \Drmc‘a(
unSab
— Sdutens ue Pgr\csci\c_ W / -[:P&@D\Amcg, L0 +=0
A 8
,wk r _ié '(L,ot—J) o
TL e restret 4o real- ualued so\url%ong) c_=(c) 7 %= ce +ce= LR[ cpe J: /\Qc[ﬂL ] 3} Affe[ﬁmt)
&
= Amg (w‘{:—g3 \4)‘




A 2D S'PV1V\‘,1, SHS+QM f A uar'g‘ 'm‘\?res‘k'n& S—éS\'ér\m ‘té gf'ue/\a, s A burch ot oSS es SPMMI 03!“ oL o [Q'Hic‘f,
/6"} re\o(_a‘i‘ce’ on Lo [a‘f{ Qe /Qo} a c‘ruo[s‘l‘o\ LW MesseS —-ol{"cs“qs \ q+um c bor)cfs hbld 'l' “b’-&qj{'l’\m
%

A\ 103 SJc,p —f—owarlx 'H\AS conS oLJI 1 Wgeg e D eads are -\OM&J Sdmne_ Ct:.v\r?('q‘c{ k/‘Q- —pmr\ €°1C,l’\ C‘Df\ ’\%u
. F=kx E=-hy |B= k@]
Eﬁ:“&&“ of metion: %= %= L ﬁ =~ Note: k conld be differedt for g e chong
ij = —wla, (UQK 4 U)?D

x©)= X, et =&
yE)= VYo cos(wt ~c53>

E?@% O‘E Nb+ o
, g B
1/

These are \vear o unmuP\d = lve %epafaTe\éJ ¥ Swpwpos&_J Pick £=0 s+ & =0

Ji% s rt,lO«‘!*N‘E, .le\o\g,g_,

line i rele f)j"p(‘;e'
Wwht k2 }:‘3) X(€) = X cos (L) Kehavocr depcr\o[s ormo',aubu on (A)x/wg
c&[t): Y, cos (wgJ{: ~J) % m+i0m&=> %;_ T:] mﬁgj@fg Ny, = mwy
pew Louchon, e, £ = th(“")V‘)"QTr \ mation rcpep«‘fs
Rt i W g ipeectionod (-rr‘ E)d"c) Hem moton. rowen FLPQJC&S )
w
¥

=




